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AR HS g E 3TAcTel Ug DI ?

Which other planet have life on it similer to earth?

1. gsh [Venus] 2.7 [Jupitor]

3. /& [Mars] 4. ISP T8 [None of the above]

g Sefelell 318 g Geata IRYHUT IHes —————— 5, BT,

The revolution of the earth and the inclination of its axis give rise to ---------
1. 37T [Summer] 2. f&arest [Winter]

3. JTaTaT [Rainy season] 4. a¥iel 94 [All of these]

Tl SIS 3Tl

Identify incorrect pair.
1. qYTsR — 30 foHT 9fd [Troposphere - Upto 30 km]

2. RUATER - 3N [Stratosphere - Ozone]

3. HegieR — FRRUATERIAT aR 39l [Mesosphere - Above stratosphere]
4. ISR — JEITSRTT IR 3RAT. [lonosphere - Above Mesosphere]
PIUTC SIS Fehrelt 31T 2

Which is incorrect food chain?
1. feoft — ArdIST [Sparrow — Grasshopper] 2. R18 — gR0 — 7&d [Lion — Deer — Grass]

3.991 — E\IW — Tdd [Rabbit — Frog — Grass] 4.949 — W [Snake —Frog]
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T.5  SMUcHTIET el HaTdT SGR PHRUY FEUSY —
Respecting opinins which are different from our own is called --------

1. HfESUCT [Tolerance] 2. fafqerar [Diversity]
3. Wbl [Unity] 4. FHMET [Equality]
.6  TIRCIDh UQNUT BHT PhRUIRITS] rel 1 hrled 2
Forreducing plastic pollution what will you do?
1. TATfeC T ITUR dHT BHROTR. [will reduce use of plastic]

2. TATRCE G 3TTedT TR U PRUMR gl [will not mix plastic and other wet waste]
3. IR AT TeATREehal g :dTuR hRUTR. [If possible reuse the plastic]
4. 941 99 [All of the above]

9.7 ﬂﬁ%ﬁ%ﬁ ———————— B AETH PIIGIAR SRIadT 3.
----------- of alandform can be easily shown on the paper.
1. AT [Length] 2.%91 [Depth]
3.1 [Height] 4. 51T 94 [All of the above]

.8 g SIS e,

Identify wrong pair

1. === - ¥od [ - Railway] 2. @ -TUI[e -Mine]

3. - ———- AR AT [- — - — - International Boundary line] 4. {3 -d&< [ {3 - Harbour]
7.9 SR ORAM -—————- g W9 Uleh 3TTg.

------------ is primary crop in the North India.

1.7g [Wheat] 2. Fﬂ§36 [Rice] 3.5aRI [Jowar] 4. 1Y [Cotton]
9. 10 eIl aTerd SATesel.

Identify wrong statement.

A) 3RE TG F&GHT 9¢ 3T, [Lakshdweep islands are in Arabian sea]
B) §TTe<dT SUITRIA SGH s 31Ted. [Andaman island is in Bay of Bengal.]
1. %ad A [OnlyA] 2. %ad B[Only B]
3.AgBTeIel [BothA&B] 4. PIoTIEr AATel [None]

g 11 A SAidcieR Ridel g™ ———————— TR

Season from June to Octoberis called -----------

1.9 [Kharif] 2. %t [Rabi] 3. 94 [Monsoon] 4. 71 5 [All of the above]
9. 12  Arcaviidicl gTaTe dhis—Tiiam SUsd a1q T Fgud BT dhel ST ?
Whatis done to prevent damage by paste to grains?
1. TG STRT RS 3adTd. [keep it dry] 2. TRe&S ST a1 [mix protecting chemicals]
3. g UTell aTuRaTd. [use of neem leaves] 4. a¥1l Hd [All of the above]
.13 3 feplquarear gy HeHid dveT 91eg 31T,
Find odd man out regarding food preservation methods.
1. 9198 [Papad] 2.7g [Wheat] 3. QI [Daal] 4.3 [Milk]
9. 14 IO ITEeh I Ua g Fafa ST GiaRuT e 3iTe.
Which mode of transport is most ecofriendly?
1. /et [Bicycle] 2.5 [Bus] 3.3 [Truck] 4. {9 [Aeroplane]
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G — AT TR AT AT 2Teq, AT,
Find odd man out regarding Audio-visual communication.

1. &g [Telephone] 2.2l [Television]
3. gidhr—cldhl [Walky-talky] 4.32¥31 [Radio]
QTP TRIRATEI T iTet UROTT HhIord ?

Which of the following are advantages of telecommunications?

1. Sarchiefy Fueh ATerdT AT, [Can contact people]

2. +1fifep afTuc st Jd ehedmT e Srehd. [Forwarning about natural disasters]
3. JIRIIETET STRRoahT [Awareness about health]

4. 1T 94 [All of the above]

Tt DIV STAYGENDRROT haTeiiar HfchaT Ta.

Which of the following is not water purification process.

1. fFraes0T [Settling] 2. 750 [Filteration]

3. 571 I¥ATYS [Water management] 4. fSIqehIepRuT [Chlorination]
ONTGBT 976G JTBT.

Find odd man out.

1. f&7% [Himroo] 2. &gTd! @ [Lucknow Chiken]
3. Youft [Paithani] 4. HisiaRH [Kanjivaram]

Radhanagari sanctuary is famous for -----------
1. 79T [Bisons] 2. foredT [Cheetan] 3.HIhS [Monkey] 4. gt [Elephant]

Maldhok (Great Indian Bustard) can be found in ----------

1. TeIET [Tadobal 2. M9TTRT [Radhanagari]

3. BTN [Kazirangal] 4. 9m51 [Nannaj]

QaRTS AT YehTd AT 3Tooedl.

Identify incorrect statementregarding Devrai.

1. I UTUT EREUT 81, [Protection of animals]

2. PATCHHLY T IRV FgUIdId. [In Karnataka known an sharanvane]
3. ST FREUT [Protection of forest ]

4, éﬂ?’l’s‘%’lﬂgﬁ@ H9sdid. [Devarai’s are presentin Maharashtra]
TEBT 216G M,

Find odd man out.

1. foe9g ueref [Starch] 2. 9&hRT[Sugar]  3.TgHd Uare [Fibre] 4. =T ugref [Fats]
SRISR SISt 3BT

Identify correct pair.
1. Sfaw~aca & — e [Vitamin B - Night blindness]

2. feTg ugref - IS [Fats - lodine test]

3. pIEIGd — SaRT [Carbohydrate - Jowar]

4. QY - Sarigrl sFees [Minerals - Energy giving foods]
()
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INIYTehod! 3TN FeRUTehod | SITAT TGN — — —— ——— — TEUIATd.

Organ between thoracic cavity and abdominal cavity called ----------
1. 9959 FIfeTdT [Trachea] 2. 9a4ed [Diaphragm] 3.91gdIe [Alveoli]  4.%ft [Gland]
BT 2Meq 3o,

Find odd man out.
1. efresyieft [Salivary Gland]  2.316R [Stomach] 3. G5 [Lung] 4. 9131 [Oesophagus]

National Science day celebrated on -----------
1.5" ST [5"June]  2.10"SA[10"June]  3.22"HATef [22"March] 4. 28" %gaRt [30" February]

qToft S RATST PIoTeT MY HReT Aciied ?

Which measures can be taken for water conservation?

1. f&9a R¥e [drip irrigation]

2. PIGiYdeh qTugTed] dica s vl [carefully closing the taps of water]

3. TSNS Mokt dhetedT HISUTUITT IR [use of treated waste water for plants]
4. 9811 |4 [All of the above]

YT b AR DI BRI ?

What will you do during earth quake?
1. CeTRITefT 3TRART €Tef [Take cover under table] 2. RISFITIRET R J&Tel [Stay away from window]

3. foTorear TR 2Te8uTR [Avoid use of lift] 4. 91T 94 [All of the above]

TR gRADBITD STP PIOTAT FUTTe ?

Who is father of Green Revolutionin India?

1. 7974, M [M.S. Swaminathan] 2.Q.d1S1. 37egel et [A.P.J. Abdul Kalam]
3.79.9%. 9199 [M.J. Bose] 4. T TS [None of the above]
TOTRTAT AN PI0f AT ?

Who invented computer?

1.%&9 91 [Grahem Bell] 2.%1$¢ §¢ [Right Brothers]

3.9 §esT [Charles Babbage] 4. HHter [Macmillan]

TeTIet AT eI ShH JN¥E HeATIgrea STRTT A0TRY FeeT S,

Find the number that can complete the following series.

3,5,11,29,83,7

1.245 2.249 3.248 4.246

wleflel YA fdedn ygrar ga=an yarelt St dae 3 drer forg=am ugran =iedn ugrelt 31me. & |eer ofaid

O JeARIgreaT Sl I aa iy e,

Observe the relationship between the first and second term and find the fourth term which is related
with the third one.

84:64::93:7

1.36 2.216 3.144 4.343

Tepl TEATET Geithi Ucdehl 15 Y. 3TcRraR 300 ST U clldetel! 3TRd. TR UfdedT a Aaeedl JuTdiel i)

fepcf 2

300 saplings are planted by a roadside bilaterally. Distance kept between two plants is 15 m. What will
be the distance between the firstand the last of sapling?
1.4500m 2.2250m 3.2235m 4.4470m

(A4)
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9.34 960 . AT R 11 f3H1oft BT FHH Ths hedT™d T JhedTa! aridt el I3t ?

960 m. long rope cut off 11 times to make equal pieces. How much long will be the each piece?

1.88m. 2.80m. 3.85m. 4.90m.
7. 35936 /7\Yﬁﬁa—c' [Cricket]
8 / 2 @(\5 <—gThT [Hockey]
S Bt [Football

q.35  focl Worg thad fovdhe Woadra ?

How many players play only Cricket?

1.10 2.13 3.1 4.2
U.36  fepclt Woorg febebe, Bleh a Bealel & clial Wos Weselld ?

How many players play all three games Cricket, Hockey & Football?

1.8 2.1 3.9 4.13
9.37 1 STHaRT 2019 IS TIGIR 3Re o) 1 STHART 2016 ST HIOT IR Biell ?

On 1% Jan. 2019 itwas Tuesday. What day was on 1° Jan. 20167
1. 9TaR [Saturday] 2.3fFEaR [Sunday] 3. AR [Thursday] 4. YhaR [Friday]

T. 38 40 TR greaT SIeft a7 W= forgl.

Complete the series.
5. 38 ‘ ‘ ‘
1.6 2.17 3.18 4.19
.39  3129,4117,3107,?
1.4148 2.7128 3.4128 4.8136
w40 HATLT]S 1.19 2.1
3 [13]?
19111123 3.29 4.31
T.41 7 I MM 5 At At fHAa 3900 . Mg 3107 5 Tt 37107 7 g2t are fbwd 3600 . 3778, R U oaa
g Uep Tl greit feperet fepell 2

Cost of 7 tables and 5 chairs is Rs. 3900, cost of 5 table and 7 chairs is Rs. 3600. Find the cost of one
table and one chair?

1.600 2.650 3.750 4.625
q. 42 STSTAT 3Tl fohel ST 37Ted ?
Count the number of rectangls from the figure given alongside.
1.15 2.30
3.45 4.40

T.43 3T T oI I ST AT SRIST 45 9N 3R ISTTalTehl 25 I 3118 TR Jelrdl 31Tl a3 faped ?

Addition of the ages of mother and son is 45 years and subtraction is 25 years today. What will be the
age of son today?
1.35 2.25 3.10 4.20

~
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9. 44

Y. 45

Y. 46

Y. 47

9.48

9. 49

9.50

TepT AThfcies WG 12=5,23=13,35=34,26=40TR 43 = ?
Inasymboliclanguage 12=5,23=13,35=34,26=40then43="7

1.22 2.25 3.27 4.36

TeT I 35 Hol 37T, I A STORET 14 ot SHT o<1 AL UIT=AT AT ShHih fohadl Igf 2

35 children are standing in a straightline. If 14 children are added in this line, what will be the number of
the middle child?

1.24 2.17 3.26 4.25
PIINT STTRTAUET 7 feaqi=t AIST 3. =17 3Mehiemue 5 Rgd ofgM 3. SR d-aml defedy

T Ad 3T AR DI SHICTH DIUTdT 37l ?

Kaveri is elder than Aakansha by 7 days. Tanaya is younger than Aakansha by 5 dyas. If Tanays’s
birthday comes on the Independence day, on which day Kaveri’s birth day will come?

1. 10 3Fee [10" August] 2.6 37e [6" August]

3.7 3e[7" August] 4.3 3 [3" August]
agpeiiciier B e fnch 2
How many triangles are there in the given figure?
1.18 2.12
3.25 4.24

I 3 TPIEhT IR, AT Uehl SDIhTl A1d GNeT AT, TR GRIeT JATSAT guT Hel fehelt ?

Sandip has 3 uncles. Suresh is one of his uncles. How many sons are there to Suresh’s mother?

1.5 2.4 3.3 4.6

Siqexi Riegrefen &R ereaf a/am %(tnzr) M WY Hiffidel. TPHUr 3 Mo SRcTe R el TRy
e Mt Ae ?

Siddharth is suggested by doctor to take one fourth tablet after half an hour. If there are 3 tablets, how
much time will it take to finish all the tablet?

1.5a/ [5hr] 2.5dR 30 9 [5 hr. 30 minute]
3.4drF 30 e [4 hr. 30 minute] 4.6 [6hr.]

| ABCDE FGHIJ KLMNO PQRST UVWAXY |
RIS NeRHTeR RIS e HeT forgreat SR AUIR 18R T e,

Observe the above alphabets and find the letter that can replace the question mark.
B,F,J,N,?,V,AE
1.P 2.S 3.R 4.T

(3mmueaT wemufda 50 U 3™ied™ (OMR Answersheet) Scax ufidhd UeF Hid 1 o 50 Tfaa Scar Aigardid. )

(a1 Teufd IR Gl (Answer Key) 8/Y @ www.drevramanexam.com I7 JeRISCeR SUEY 85l )




